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BUS 310, Exam #2C, Spring 2018 Name e
Section

Instructions: This exam/|is in two parts: Part | is to be completed partly at home using the materials

posted on Blackboard for Part | and you will answer questions aboutfthat work in class below; Part Il is
to be completed entireh,'r in class. You may not use cell phones, and you may only access internet
resources you are specif'ically directed to use. You may access your data file for Part | of the exam in
Blackboard. You may access the data files posted to Blackboard for the Exam part Il. Be sure you are

using the data file that matches the exam version you are given.

Part I: At Home

This part was completed at home. You can upload the Excel file for Bart | to the Part | folder in
Blackboard for use during the Exam period. However, this submissio 1 will not be graded in this location,
it must be submitted to the “to be graded folder” to receive credit. |

Part Il: In Class

1. Use the work done at home to answer the Part | questions.

2. Open the file fram the in-class portion of the final posted on Plackboard that corresponds to the
version of the exam you have. This is Exam C.

3. Answer the questions corresponding to the data file, and anﬂ{additional calculation in Excel
required.

4. When you have finished answering questions on the exam, ahd all your answers have been
recorded on the‘paper test for grading, upload both the takelhome Excel file and the in-class
Excel file to the Tame in-class Exam folder in Blackboard for grading. Only those files submitted
to the correct fo|lder will be graded. (If in doubt, put all workiin one Excel file.)

5. Turn in your paper copy of the exam to your instructor. '

6. Enjoy your breal|<!
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14. The regression output for the quadratic (polynomial degreej model) is shown on the next page
along with the riesidual plots. Use this information to answ ' the questions that follow,
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Standard errors:

Sample sizes: 1
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